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6.2 Recursive Formulas for Sequences

Directions: 1-3: Choose the best recursive formula for the following sequence.

1) 40,32,24,16 2) -3,-6,-12,-24 3) 1,1,2,3,5,813
a) by=bp1+by
a) G(n) =G(n—1)x8 a) hp = hx-2
b) G(n)=6G(n—1)+8 b) hy=h-2 ¢) by =bpi1 Tt Bnrz
8 c) hp_q=hpXx2 d bp=by+b,
d) G(n) =G(n—1)x—8

Directions: 4-5: Consider the following graph as a sequence plotted by (n, B(n)).

4)

a) Is this an arithmetic or geometric sequence? How do you know?
Geometric because it has an exponential relationship.

b) What is the recursive formula for this sequence?

(AN = Ca-D KL

J- YO

c) What are the next three terms?

5)

a) Is this an arithmetic or geometric sequence? How do you know?

[ts arithmetic because its graph shows a linear relationship 4~

b) What is the recursive formula for this sequence? 1

c) What are the ree terms?

<)1)—\ )

...........

Directions: 6-10: Use the sequence to answer each of the questions.

6)4, 15, 26, 37

a) What are the next three terms?
4%,59,%0

b) What is the recursive formula for this
sequence?

[,} () = \Jr (f\'ﬁ dl ) \XC\\’J\

c) Is the sequence geometric or
arithmetic? Why?

Its arithmetic because
there is constant difference
of 11.

d) Describe what the graph will look like
using complete sentences.

It will be a linear
relationship, that goes up to
the right.

7) 98, 89, 80, 71

a) What are the next three terms?
62,575, 4y

b) What is the recursive formula for this

sequence? .
A - (’\n—l’q ) (x\/cﬂ
" -
c) Is the sequence geometric or
arithmetic? Why?
Its arithmetic because there
is a constant difference of -9.

d) Describe what the graph will look like
using complete sentences.

[t will be a linear
relationship, that goes down
to the right.

at is the recursive formulafor t
sequence?

Gy = G-(a-0) 7y (.

) 1
c) Is the sequence geometric or ®

arithmetic? Why?

This one is geometric
because it has a common
multiplier of 1/2.

d) Describe what the graph will look like
using complete sentences.

The graph will be an
exponential curve that goes
down to the right.
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9)1.25,2.75,929%75 Y As,535

a) What are the next three terms?

31'3)%}%) ) 16

b) What is the recursive formula for this sequence?
- - 1,15
C ‘(\ . C__ v’\/‘\ ’\' \ Q _] C_ { - ‘ )

c) Is the sequence geometric or arithmetic? Why?
This is going to be arithmetic because there is

a constant difference of 1.5.

d) Describe what the graph will look like using complete
sentences.

Che graph will be linear, and will go up to the
right.

10) -5, -15, -45, -135

a) What are the next three terms?

~ps 1S TGS

b) What is the recursive formula for this sequence?
RLad TR w3 *D=75

c) Is the sequence geometric or arlthmetic? Why?
This will be geometric because it has a
constant multiplier of 3.

d) Describe what the graph will look like using complete
sentences.

It is an exponential curve that goes down to
the right.

Directions: Solve the equation. Put your solution into

Circle all the ordered pairs (x, y) that are solutions to

set notation. the given equation.
11)-1="2-5 12)7y —2x = —1 DL = Q<!
s | 4% ) -2l = —‘F_i,:kil_ ' }/31_3 ..
CO‘% "-"'f(b e ‘f)_j; :::Il —sq4- I_— N
q = - Of afe Fu @D
no_ @ FCO -1 =" 2D =2 T
O\“( 3 -DE T o410 4 -
24 - | 7% -

Directions: Fi roduct.

Directions: Solve each inequality. Express the solution
graphically and in set notation.

13) 3k — D)3k’ — 11k — B)

> 2o\ €343
Gk

D Ikr €

L = vk %Y

14) 92 > —4 (x — 9)

a7 -4 xi 30

- U <K
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